X2 - 9y? +dx + 12y B AR SSHH (Ax + By) (Cx + Dy +4) 7}
Hoha ek A+ B+ C + D 9] 3& Fatofet

> E.

> ®™eh: 2

(A1) = (x=3y) (x+3y) + 4 (x+3y)
=(x+3y)(x—3y+4)
LA4+B4+C+D=1+3+1-3=2




99 x 145 4+ 99 x 55

o o B Fotla,

Ch "
[— ]

>
D> MEH:

oHd -

1
2

99 x 145 +99x 55  99(145 + 55) 1

1992 — 1 (199 + 1)(199-1) 2




3.

a=V2-1Q W, a®+4a+4 9] 3L Fstolet,
>

> He: 34242

B

@’ +da+4=(a+2)?
=(V2-1+2)
= (V2+1)?
=2+2V2+1
=3+2V2




a—2b =3 0|1, 2ax —4xb +ay - 2by = —12 & W, 4x? + 4xy + y?
o] gt Fatolel,

> E.

> Hehl 16

B ~
2ax — 4xb + ay — 2by = 2x(a — 2b) + y(a — 2b)

= (a—-2b)(2x+y)

=3x(2x+Y)

=-12

L 2x+y=-4
4x% +4xy +y? = (2x+y)? = (-4)2 =16




o+2 194 oABEF 2} oFHGD 7} Ak
219 2 ufj, A}ZH HECG ol yolEa, bl
et Ao g2 YehdH & QlpEalistH (a -
b)(ta+ sb) °Itt. 1+ s &] & T2

UU/’—Q‘“

>
O EHE r+s5=1

_-a--

A2+ ABFE, EGHD = AAMzZtgo|ng
HE=b-(a-b)=2b-a,EC=a-b

"2 A 9] "ol (26 - a)(a—b) °lH.
webA r= -1, s=20|E& 45 =1 °Jc}.




